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英文
I. Vocabulary/Grammar/Usage (30%)
Directions: In the following section you will read 15 questions. You are to choose the one best answer, (A), (B),(C), or (D) to each question. Then, on your answer sheet, find the number of the question and fill in the space that corresponds to the letter of the answer you have chosen.

1. Farmers often ___ crops to help preserve the quality of the soil.

(A) deceive  


(B) acquire 


(C) rotate         
(D) stimulate
2. Every citizen has the right to be held ___ in all criminal cases, unless proved otherwise.
    (A) ignorant 


(B) innocent    

(C) incredible  

(D) insufficient
3. Sugar cane grows better in ____ climates because it needs a lot of sunlight for growth.
(A) fertile    

(B) fruitful     

(C) eligible    

(D) tropical
4. A Federal Bankruptcy judge in Chicago ____ the United Airline’s decision to terminate its employees’
  pension plans yesterday.
(A) approved  

(B) aggravated  

(C) assign    

(D) alienated
5. Two robbers are said to have ___ the factory owner and demanded he give them the code number to open the safe.
(A) distributed 

(B)sponsored


(C) approached 

(D) dedicated
6. Mary wrote a letter of complaint to the manufacturer after her new car ____ three times in a week. 
(A) broke up  

(B) broke down

(C) broke off 


(D) broke out
7. It _____ me that I was born on exactly the same day as my girlfriend, so we can celebrate our birthdays together.
(A) occurred to  

(B) happened to  

(C) came about 

(D) struck on 
8. Failure to take preventive measures against pollution may eventually ___ a threat to human survival.
(A) make      

(B) pull      

(C) pose  


(D) reject
9. Most of us are flattered when we receive someone’s _____.
(A) compliment 

(B) reprimand


(C) appraisal  

(D) offense
10. ____ 200 people were killed in the air crash that took place soon after the plane took off.
(A) Somewhat  

(B) Approximately

(C) Ambiguously

(D) Paradoxically
11. Our brains interpret our ____ impressions for us. For instance, the images of things we look at must go to the brain so we can actually “see” them.
(A) inadvertent  

(B) adept 


(C) sensory  


(D) resilient
12. I thought the handyman was being ____ when he said he had to cut a bigger hole in my wall in order to fix the little hole, but that’s exactly what he did.
(A) dexterous 

(B) facetious


(C) ubiquitous 

(D) maudlin
13. I tried to ___ the laugh rising in my throat, but seeing the boss looking all over his desk for the glasses he had pushed up on his head was too funny.
(A) squelch    

(B) venerate


(C) berate    

(D) juxtapose 

14. Grandfather was known for being ____. Once he spent twenty-five cents for the trolley in order to go back to a store and return the extra nickel that he had received in change.
(A) oblivious     

(B) scrupulous

    (C) inundate 


(D) vicarious
15. The nineteenth-century French writer Alfred de Musset said, “Know that there is often hidden in us a(n) ____ poet, always young and alive.” It is up to us to awaken that creative part of ourselves.
(A) inane         
(B) sordid  
 
   (C) illicit 


     (D) dormant
II. Cloze Test：Choose the best answer to fill in each blank (20%)
Passage 1


During the winter, some animals hibernate or go into a very deep sleep. Hibernating animals usually hide away in a den, a hole, or a 21 log, for protection and shelter during the cold winter months. Animals 22 from ladybugs to black bears are hibernators. While different animals and insects hibernate, they do it 23 a different degree. Some are only in a partial sleep, 24
from time to time for nourishment. On the other hand, “true hibernators” rarely wake during their hibernation period. These animals feast before they go into hibernation, consuming large amounts of food. Doing this 25 their amount of body fat and provides them with the energy supply they need during their hibernation. Generally after a long winter of sleeping, most hibernating animals awaken in the spring with a very strong appetite.
16. (A) mellow 


(B) shallow  
    (C) hollow 

(D) fellow

17. (A) including    

(B) ranging       (C) going     
(D) running
18. (A) to          

(B) for   

(C) at        
(D) by

19. (A) by waking  

(B) woke  

(C) to wake 

(D) waking

20. (A) to increase  

(B) by increasing  
(C) increases 

(D) increase

Passage 2
   Perhaps more than anyone else I know, Ann cares about animals. Her affection for them is all _ 21  , extending even to animals others find less appealing, such as rates, which she keeps as pets. Because she loves animals, Ann hates to see them caged. She objects to anything that impedes any creature’s movements. This explains a (n) idiosyncrasy of hers: she lets her pet white rates run freely throughout her apartment.

Ann’s view of cages has also led to a strong _22_ toward zoos. If Ann had jurisdiction over all the zoos in the world, she would make them illegal and _23._ all the animals from their captivity. Many people will argue that zoos protect animals, but Ann scoff at this idea, saying it’s preposterous because animals often die when they are being trapped for zoos or shipped to zoos. She believes that the most _24._ life in the wild is preferable to the safest life in captivity.


Of course, Ann realizes that her utopia- a society with no cages or zoos- is far from imminent. Nevertheless, her spirit has not been squelched, and she continues to _25._ freeing the animals in the hope that someday the zoos will close their gates forever.

21. (A) jurisdiction 
    (B) imminent  
(C) inclusive 

(D) preposterous

22. (A) contingency    
(B) antipathy     (C) liability     
(D) tenet

23. (A) emancipate         (B) bolster   

(C) depreciate     (D) relegate

24. (A) terse    

    (B) replete  

(C) inquisitive

(D) precarious

25. (A) inundate  

    (B) circumvent  
(C) advocate 

(D) sanction
III. Corrections: In questions 26-35, each sentence has four underlined words or phrases. Select the ONE underlined word or 

phrase that must be changed. ( 20%)
26. Major advertising companies have traditionally volunteered  its  time to public service accounts.
            A                     B                 C         D

27. Diamond are evaluated on the basis of their weigh, purity, and color.
              A           B       C   D
28. Ships are able to move through canals by means locks, rectangular areas with variable water levels.
A              B             C                D

29. Harvard University was established just after sixteen years the Pilgrims arrived.
A            B      C                    D

30. Patients suffering from encephalitis have an inflame of the brain.
A      B                   C         D

31. About twenty-eight million Americans suffer serious hearing loss, and the likely cause in more than a third of the cases are 
                                                     A          B                                 C             
   too much exposure to loud noise.
D
32. Because helicopters are capable of hovering in midair, they are particularly useful for rescue missions, military operates, 
    A                           B                        C                                    D

and transportation.
33. Many states do laws regulating production processes for different types of food products.
             A                   B                      C            D

34. For photosynthesis to occur, a leaf requires carbon dioxide, water, and lightness.
    A               B           C                            D

35. Ester Forbes won the 1943 Pulitzer Prize in American history for her biographer of Paul Revere.
               A                    B                  C      D

IV. READING COMPREHENSION: Q36-Q45 (20%)

Directions: The following section includes 2 passages. Each one is followed by several questions about it. You are to choose the one best answer, (A), (B),(C), or (D) to each question. Then, on your answer sheet, find the number of the question and fill in the space that corresponds to the letter of the answer you have chosen.

Passage 1


Today the game reserves of East Africa are facing a number of threats. Although they earn considerable revenue by attracting tourists, they take up land which is increasingly sought by the local people. While these reserves feed and protect animals, they are in danger of turning into barren areas or deserts. Trees, shrubs, and grass are gradually being eaten by grazing herds.


Another problem to be found is in the changing attitudes of the animals themselves. Many of them are losing their hereditary fear of man. In this way, they may become a danger to visitors and thus to themselves. Attacks on vehicles are beginning to increase, and it is possible that the problems will become serious in a few years’ time.


The problem of shortage of land is not a simple one. As the population increase, more and more people look hungrily at the land set aside for game reserves. They claim that a government’s first duty is to its inhabitants and not to tourists or to wild animals. Despite the income obtained from tourism, this is an argument which is difficult to answer satisfactorily.

36. Which of the following is the most suitable title for the passage?


(A) Problems Facing East African Tourists

    (B) African Wild Animals Becoming More Dangerous

    (C) The Increasing Population of Game Reserves

    (D) Some Problems of East African Game Reserves

37. Why do local people look hungrily at the game reserves?

(A) They may wish to visit them frequently.
(B) They may seek land for their own cultivation.
(C) They animals may be a danger to them and their village.


(D) They may dislike living in a deserted place.
38. It can be inferred from the passage that soil erosion in the game reserves is caused by 


(A) the disappearance of vegetation which is eaten by the animals.


(B) the tropical heat.


(C) the violent storms which are caused by grazing herds.

    (D) the loss of the animals’ hereditary fear of man.

39. As far as we can tell from the passage, why does the government bother to maintain game reserves? 


(A) To stop the people from using the land.


(B) To start a building project.


(C) To obtain income from tourism.

    (D) To prevent tourists from making a nuisance of themselves.

Passage 2

It is the role of the Federal Reserve, known simply as the Fed, to control the supply of money in the U.S through its system of twelve regional Federal Reserve Banks, each with its own Federal Reserve District Bank. Many commercial banks belong to the Federal Reserve System and as members must follow the Fed’s reserve requirements, a ruling by the Fed on the percentage of deposits that a member bank must keep either in its own vaults or on deposit at the Fed. If the Fed wants to change the money supply, it can change reserve requirements to member banks; for example, an increase in the percentage of deposits required to be kept on hand would reduce the available money supply. Member banks can also borrow money from the Fed, and an additional way that the Fed can control the money supply is to raise or lower the discount rate, the interest rate at which commercial banks borrow from the Fed. An increase in the discount rate would reduce the funds available to commercial banks and thus shrink the money supply. In addition to using reserve requirements and the discount rate to control the money supply, the Fed has another powerful tool: open-market operations.

40. This passage is mainly about

   (A) the function of the Federal Reserve

   (B) the organization of the Federal Reserve 

   (C) reserve requirements

   (D) the effect of lowering the discount rate 
41. According to the passage, the main purpose of the Federal Reserve System is to 
   (A) increase reserve requirements

   (B) increase or decrease the amount of money available

   (C) increase the number of Federal Reserve Banks 

   (D) increase the money kept on deposit by member banks

42. When the Fed controls the percentage of deposits kept on hand by member banks, it controls 
   (A) district banks 

   (B) the discount rate 

   (C) the reserve requirement
   (D) borrowing by commercial banks 

43. “Vaults” in line 4 are
    (A) accounts

    (B) cash drawers

    (C) compartments for safekeeping

    (D) personal safety deposit boxes

44. The passage implies that a lowering of the discount rate would lead to 
    (A ) an increase in the money supply 

    (B) a decrease in borrowing from the Fed by commercial banks

    (C) a decrease in the money available 

    (D) an increase in the reserve requirement

45. The paragraph following the passage most likely discusses
   (A) the need for controlling the money supply

   (B) the structure of the Federal Reserve System

   (C) recent change in reserve requirements

   (D) open-market purchases and sales

V. SHORT ESSAY: 10%

Directions: Answer the following question with 80-100 words (about 6-10 sentences) in English. The grading standards will base upon the organizational, structural, and grammatical skills.

Essay Question： How will international conflicts be handled in the future?
(試題結束)
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